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N.B. : (1) Question number | is compulsory.
(2) Attempt any three questions out of the remammg five quﬂbllﬂﬂs

(3) Figures to the right indicate

full marks
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| Total Marks : 80

(4) Assume suitable data whenever required and justify them.

State and explain the different -'i.s.'sue_s m Ad-hoc Wireless 'ﬁﬁ_hgrofk's.
Explain the Multi-channﬂl_ MAC & 'Pc-W'fe:r--;:m'ltrDl MAC _prniocc:-l.

Explain how helemneneous mesh netwaork. dlffers from vehicular mesh

network.

Differentiate ad-hoc TCP and split TCP

What are the effects of exposed terminal problem in wireless networks?
What is meant by _DL‘SR and e:-;plai;_] ahb_ut. OL-S_R r::_)uting protocol?

E:u:plam iree based and me&h base:d Ad hDL nctwork routing.
erte, short nota on dlfferent operatmnal statas of transceiver in WSN,

2 i l:- . -

: ,j:xp]am hr:rw routngn ad—hoc and sensor network is more secure?

’ Expiam 1ssues aufi challengjes LN prm 1{1111;, QoS in ad-hoc wireless networks.

. Explam abuut thL lc:!callzatmn in WSN
Explain H}fbncl TDMA/FDMA.
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